

Frank Schulte City Administrator City of Grosse Pointe Woods 20025 Mack Plaza Grosse Pointe Woods, MI 48236

22-064

Professional Services from January 1, 2023 to January 31, 2023

Project

HEADQUARTERS 235 East Main Street Suite 105 Northville, Michigan 48167

0248.596.0920 F 248.596.0930 MCKA.COM

 February 27, 2023
 - Rev March 28, 2023

 Invoice No:
 22-064 - 7

RECEIVED

MAR 28 2023

Profession			CITY OF GROSSE POINTE WOC CLERK'S DEPARTMENT		
		Hours	Rate	Amount	
President					
Jackson, John	1/19/2023	1.00	150.00	150.00	
Prepare for and att shop regarding pot	tend January 19, 2023 mee tential expansion.	ting with who	lesale wine		
Senior Planner					
Boettcher, Michael	1/6/2023	1.25	100.00	125.00	
•	nt two public zoning inquiri ter Plan consultant.	es. Established	d work		
Boettcher, Michael	1/9/2023	5.25	10 0 .00	525.00	
Communicated wit	in development process for th developer. Traveled to, a the Planning Commission me	ttended, and	followed up on		
Boettcher, Michael Held pre-developm 19876 Mack Avenu	1/12/2023 lent meeting with applicant le.	1.00 t regarding	100.00	100.00	
Boettcher, Michael	1/13/2023	1.50	100.00	150.00	
Researched ordina residential districts	nces related to keeping live	e poultry in			
Boettcher, Michael	1/18/2023	2.00	100.00	200.00	
	nitted a version of the Ann h on chicken ordinances.	ual Planning R	eport.		
Boettcher, Michael	1/19/2023	2.25	100.00	225.00	
	h Planning Commission me d regarding the next Planni 3.				
Boettcher, Michael	1/20/2023	2.00	100.00	200.00	
	ng Report submitted and fi anning Commission meetir	-			

Grosse Pointe Woods Planning Services

7

\$2,24500

Boettcher, Michael Researched and comp Administrator request	1/25/2023 iled chicken ordinances	2.00 per City	100.00	200.00			
Boettcher, Michael	1/26/2023	2.00	100.00	200.00			
Chicken ordinance research and zoning policy regarding a prospective business. Outlined issues and transmitted to the City Attorney.							
Warren, Alicia	1/17/2023	2.00	85.00	170.00			
Research and review proposed chicken ordinance.							
Total					\$2,245.00		

THANK YOU. Please remit to above address and indicate project number on voucher.

19371818,000

Invoice Total

SM 3/28/23 FS 3-28-23



HEADQUARTERS 235 East Main Street Suite 105 Northville, Michigan 48167

0 248.596.0920 F 248.596.0930 MCKA.COM

				March 17, 20)23	
Frank Schu	llte			Invoice No:	22-064 - 2	В
City Admin	histrator					
City of Gro	sse Pointe Woods				DE	CEIVED
20025 Mad					nc	
Grosse Poi	nte Woods, MI 48236				М	AR 27 2023
Project	22-064	Grosse Poin	te Woods Planni	ng Services		ROSSE POINTE WOODS
Profession	al Services from Februa	ry 1, 2023 to February	<u>/ 28, 2023</u>		CITY OF G	K'S DEPARTMENT
	Professional H	ourly Services				
			Hours	Rate	Amount	
Senior	Planner					
			2.00	100.00	200.00	
	Created draft maps of City Administrator info social districts and con research into specific commons, including c representatives.	ormation about where nmons areas. Conduc procedures to establis	e and how best to ted online and p h social districts sse Pointe City a) locate hone and nd Ferndale		
			2.25	100.00	225.00	
	Prepare for and atten Whole.	d February 27, 2023 Ci	ty Council Comm	hittee of the		
			7.25	100.00	725.00	
	Research, communica Chicken Ordinance an		id Ann Arbor, an	d prepare		
Assista	nt Planner					
			1.25	85.00	106.25	
	Perform research for t	he Chicken Ordinance				
	Total					\$1,256.25
				Invoice	Total	\$1,256.25
Outstanding	g Invoices					
	Number	Date	Balance			
	7	2/27/2023	3,730.00			
	Total	·	\$3,730.00			

THANK YOU. Please remit to above address and indicate project number on voucher.

101371818.000 SM 3/27/23 FS 3.27-23



HEADQUARTERS 235 East Main Street Suite 105 Northville, Michigan 48167

0 248.596.0920 F 248.596.0930 MCKA.COM

	March 17, 2023							
	Frank Schulte			Invoice No:	21849 -	71		
	City Administrator							
	City of Grosse Point	te Woods						
	20025 Mack Plaza							
	Grosse Pointe Woods, MI 48236				RECEIVED			
	Project	21849	Grosse Pointe Woods Building Services			MAR 27 2023		
	Professional Servic	es from February 1, 2	<u>023 to February 28, 2023</u>		CITY OF GR CLERK	osse pointe w oods 's department		
		Building Departmen	t Services - 85% of Revenue					
	Contract Amount							
L	V Number of Peri	mit Revenue	39,825.00					
3.12)		.85					
3/27/2	Total Fee		33,851.25					
Ľ (?	þ		Total Fee		\$33,851.25			
· · ·								
	Vehicle Credit				(500.00)			
		Total				(\$500.00)		
General Zoning/Administration						······		
General Zoning/Administration professional services.								
	,	·····						
			Hours	;	Amount			
	Senior Planner							
			11.75					
	Assistant Planne	er						
		—	1.00					
		Total				0.00		
				Invoice To	otal	\$33,351.25		
		1013	71818000					
	SM 3/27/2023							
	THANK YOU. Please remit to above address and indicate project number on voucher.							
			FS 3-27-2					